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Simplify the expression.

1. (3x%°?
¢ \Y¥
17X ¥
3. —63xy°
18x72y?

Perform the indicated operation.

5. (BX*—5x+7)—(2x*+9x—1)

><1- MHx ¥

7. X-4)(x+1)(x+3)

- Bx- 1
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4. 15x%y 6x°y?
6x'y>  5xy
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6. (2x—3)(5x°—x +6)

lez—(7><z+15></[‘K



Divide using long division.

8. (BX'+5xX°+4x°—x+T7)+(x+1)

3 2 15
X = 3x ¢ % %’L)vrl

Divide using synthetic division.

9. (12x*+31x*—17x—6) +(x + 3)

Ly =S x-2

Factor the polynomial completely.

10. 64x° + 343

C’{)H— 7) (( sz«?}xf L(‘l>

12. x*+8x°-9

b( JrC\BLX !\b«r}

x> 3x*+4x -6

(lx 3\()( +ZB



Factor the polynomial function. Then list the zeros.

13, f(x) = x> — 5x* — 14x

Cle) = x (x+2) (x-7)

Zarps: 0/ “2/7

14. f(x)=x*+x3—2x* + 4x —

YAE (x+3§<x 2\(»<+Z)(x 2¢>

2oy | 77/ Z/ _20/ LL



Write a polynomial function of least degree that has real coefficients, the given zeros and a leading
coefficient of 1.

15. 1,-3,4 16. -4,5,2i

0= o =Dt \werlL SN = x T -3~ 12 4x-30

Graph the polynomial.

17.  f(x) =x* + 2x* — 19x° — 40x — 20

%Qrosi“\/’(/ ”Z\)}/ 205




Write the equation of the polynomial in standard form.

Clx)= x*

18.

O)L £2x - (x -45

Use finite differences and a system of equations to find a polynomial function that fits the data.

19.
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